Risolvi le seguenti equivalenze.

2199 = e, Kg
0,4694Hg = ...cccccvvenne, dg
1,79 = e, dg
OOHg = Kg
85dag = ..cceveve g
0,272t = e, Mg
2850 = i dag
2,14Kg = v, g
292CQ = i g
4359 Mg = oo q
12MQ = e, Kg
291 Mg = e, dg
38CH = e, mg
157Hg = e, g
2980 = i, mg
A3Mg = e, cg
106Cg = .o, g
24dag = ..o Kg
251dg = .o g
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4,001t = oo, Mg
76dg = .o g
510 = i dag
1290dg = ..o Hg
09t = ., q
17,7¢g = oo, g
22981t = .o, Kg
0,121 Kg = e g
21,80 = v, Hg
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Soluzioni

21,99 = 0,0219Kg

0,4694 Hg = 469,4 dg

1,79 =17dg
55Hg = 55Kg
85dag = 85¢

0,272t = 27,2 Mg
285 g = 28,5 dag
2,14Kg = 2140 g
292cg = 2,929
4359 Mg = 4359 ¢
7,2Mg = 72Kg
291 mg = 2,91dg
3,8cg = 38 mg
1,57 Hg = 157 g
2,98 g = 2980 mg
43 mg = 4,3cg
106cg = 1,069
24 dag = 0,24 Kg
25,1dg = 2,519
69 =06t

0,3cg = 3mg

Pagina3



4,001t = 400,1 Mg
76dg = 7,69

51g = 5,1dag
1290dg = 1,29 Hg
09t = 9q

17,7cg = 0,177¢g
2,298t = 2298 Kg
0,121 Kg = 121 ¢

27,89 = 0,278 Hg
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